Physics and Chemistry e

62.  Which one of the following isan unsaturated fatty acid?
4) Palmiticacid ‘ _ ‘
b) Lauricacid i€l Limplemic acid
Linolenic acid
d) Myristicacid

63. When chlorine is passed through boiling toluene we get ‘ 70.
a) o-Chlorotoluene '

b) p-—Chlorotoluene Ml 'X‘f’l&‘(ﬂ /YA DL F_ (HMQ -lr-()‘.iiefn(

¢y Mixture of o & p— Chloro toluene Ciy o :
- i '
Q.4

d) Benzylchloride -

64. The standardtemperatureusedimhennochemicalcalculationsm ' _ 7
a) 273K 392436 = 9.0 o
by 298K ’7_’) 5 - 288K
c) 297K ,
dy 303K

65. Which ofthe following is an intensive property?
a) Enthalpy .
b) Entropy Dews ‘*a
Density
d) Mass :

66. Schiff’s reagent containg

a) Rochellesalt g
b) Resorcinol . RO ham l{m e
&Y Rosaniline : qf—]“igN%C’{

¢) onaphthol

67. Theformulaof chromyl chleride is
a) CrCl

b CiCl, E Ji
) Crody, Cv0oC5y

AgY CrO.Cl

68. Homsilveris
a) Oxideore
b) Sulfideore } iahoﬂﬂ 0%¢e
o Halide ore
d) Carbonate ore

dvy Space for calculation / rough work
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' 83. 50cc ofoxalicacid is ox1dlzed by 25¢ccof 0.20N KMnO The mass of oxalic ac1d present in 500cc of the
o solutionis
48 3.15¢ C 0D H
b) 31.5¢ Y|
S 638 ‘ coo H
4 6 . Coxalic ocid
_ (96 grar~)
84,  Pure water is neutral because
H=7 _ H
%itmus has no effect F
¢) ltisfree from dissolved salts
. d) PH=0
85. Inthetitration of Mobhr salt agamst KMnO the indicator used is
diphenyl \ y
bt KMady 5 Moby b aquimt Koy, docpot
¢) phenoIphthalem . me %Q am J eriAexmn cj T ,}(i( adoy.
d) Methyl orange \
| 86, The relationshj’p between half life of a reaction and the order of reaction is
el . .
a) % 2D -
B 4 < | - |
! (n+2) .
) Ay, o —
t, o ! . /2; OL( J
c) % 7 '
e K
\CD/ % PR
| 87. 6gmofureais dissolved in 90g of water. Relative lowering of vapour pressure is
A2~0.02
b) 0.2 : Hy N CON Hy
¢) 0.002 . :
d) 0.04
88.  6.84gofsucroseis dissolved in ZOOg of water. The molality of the solution is
a) 0.2M
bg 03M NO\@(UI&"( UJ{-QI 4’ &j SU‘CYO/‘E (C|LH220”) — 34#2_’
,‘&)/O.IM ' rmaajwcé”—gxé Q4 ~ 24.¢
dy 0.02M - ‘
) . ano lalidy = 542 = O‘"ﬂ//
Space for calculation/ rough work
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